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Exponentlals have two graphs, GROWTH and DECAY v W\U l—\\p\?

ALL OF THESE GRAPHS START AT (0, 1)!
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Write the equations for the following specific scenarios.

1)

3)

4)

5)

linaz

An exponential growth that has been shifted right 5 units and down 3 units. X
A quadratlc that has been reflected over the x-axis and left 3 units. X
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An exponential decay that has been vertically stretch by a factor of 10. @
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An exponential growth that has an asymptote of 4 and moved right 2 units. Z
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A quadratic that has been orlzontally stretched by % and moved down 6 units.
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6)

7)
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8)

Aline that has a slope of 10 and a y-intercept of 2/\
An exponential decay that has been vertically shrunk by a factor of 1/6 andfeflected over the x-axis:
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An exponentlal growth that has bMand has ap symptote of -4.
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